£4 EBEREHOKRIZONT

HROESADSEIAO S E LR 1 TEROERIIAILS 5 4184, 4 2 9579
THTd,

ZOHITIIEABEOBIENZENTOE SO TENRRBI S IEAEERZE LGS
£9&. 61 186,565 0870, AIFERIZIENT. 5 %DM >THET,
L2720 T3 1 34, 1 6 b OB EA DATEREICIEN 1. b %o, BRE 1 A4
TEL 52,95 0 e DEIERIZHEAT. b WL K-> TLET,

g, ARBELTARBLTWZuEMARRER, 13 385285 2FHT,
I =720 ofHgRE, 29, 19 21 (RIEE2 7, 8 0 8H) BRI T AHZH T,
LL,521H (BIEELO,975M) &lh-oT0ET,

BN B OE AT 2 PROTCIRBO B T i 2O 1 A7z 0 O BHEOHER 3.
Fl8HDEBH T,

(%) HIT7. 4. 1 BIfEHERT A, i H 1, 155, 1563 455, 9001+



(M)

170, 000 -

160,

150,

140,

130,

120,

110,

100,

90,

80,

70,

60,

50,

40,

30,

000 1

000 1

000 -

000 -

000 1

000 -

000 -

000 -

000 1

000 -

000 -

000 1

000 -

F18H RERHEDOHR

(15472 b o EHER)

161, 351

141, 833

135, 465 134, 165

132, 211

(1 AN%720 ofE%)

60,530 ..

000

13 14 15 16 17 ()
(E) FEED 4 1 BEIEOHET AO LU IR L O FEH L ThEd,



